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Tén: Ngay thang: Piém:
O+ 3 T - 3(x+ 4x3) 3(7x2 — 4x) — 70+ 6x° + 4x
-8+ 50— -4 4¢3 — x+ T + 4(3x — 9x)
ox> + 9x° + 2(x— 9x2) + 6x 4% + 7+ 3% — 6x° — 5x
Sx° = 3x—3x° — 5% +3x° 3(3x3 + 6x2) — 5 + 5x+ 7x°
4x — 8x + 5x° + 4(5x2 + 2x2) 4(8x + 3x3) — 7% + 3% + 8
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Tén: Ngay thang: Diém:
X+ 32— T - 3(x+ 4x3) 3(7)62 —4x) — 7+ 6x° + 4x
—11x° — 42 - 3x — + 2122 — 8x
-3 +50 -2 -4 4x3—x+7x2+4(3x—9x)
e — X 43 + T — 25x
0> + 0% +2(x — %) + 6x 4% + 76 +3x° — 6x° — 5x
18x° — 18x% + 8x —3x + 112 — 5x
5¢° = 3x—3x° — 5¢ +3x° 3(3x3 +6x7) = 5% + Sx + x>
—3x 1% + 18x + 5x
4x — 8x + 5x° + 4(5x% + 2x%) 4(8x + 3x>) — Ta? + 3x° + 8x
5+ 28%% — 4x 15x° — 7% + 40x
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